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AT - I/PART - I
9 far@ gd RN/ CHILD DEVELOPMENT AND PEDAGOGY
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Direction : Answer the following questions by selecting the most appropriate opiion.

1. ProEen § g gednT a9 & R
EATF §
(1) ST
(2) Tl e
(3) STRAEAT HET
(4) THED FIE FEA

2. UF T d WHSIHT Y A B
A W Frfied # & S s

3. T X 3 g & fowg ¥ Frfoiad
¥ A 77 T a2 7

(1) g arfeafdd s g aRafda
Bt 1

(2) | wE A R

(3) URF WA § UH G JE BNl ¢ |

(4) HAT @ IO ¥ TG B & |

4, wAfeT e & awd B

(1) FfFFE Rl $ amre Fe-H
q QT FHAT :

(2) @t Rt @ [t Fea-at
g QU

(3) @ Rrarett & ffiee et
4 g HT

(4) @R e @ e W TR
AT QU FHT
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1.

To cooperate the adolescent it is
essential to
(1) Inspire

.(2) Indicate his mistakes

(3) Criticise him
(4) Do negative behaviour

Which of the following is not a
suitable technique used by teachers
for socializing the child ?

(1) Direct teaching

(2) Identification

(3) Democratic discipline

(4) Over-protection

Which of the following is a wrong

statement about emotions of an
adolescent ?
(1) Emotional expressions are

modified by learning.
(2)
(3)

Emotions are permanent.

Every emotion is accompanied by
a feeling.

(4) Emotions are aroused by external
stimuli.

Inclusive education means

(1) Meeting individual differences in
general classroom.

Meeting individual differences in
different classroom.

(2
(3) Meeting individual differences in
special schools.

4

Meeting individual differences in
home based instruction.

P.T: O
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frar o1 " B, iy sty

(1) 9R-ER e & & #12|
(2) ®F I W AR F |
(3) Wer Al i FErrr g |
(4) -2garet # a2

foeamers e @ § 3 grgan &ix
A R F § gems B, o @

(1) T ST T&E A |
(2) @ e, fwaww, e o)
e frveprer |

(3) FB IGH FA AR T Hee

(4) ufcrear # Rt &1 s e
AR R st B RN q

e ¥ garm Ay &
(1) THI=i (2) STFHE
(3) Uorai=E  (4) frEETeE

frefofgs & & #9-a1 froaer §
qHITS [ &1 % @ J8F  ?

(1) 3 77 T F UF GHI qE
B T .

@) Rl R % SR ST A
(3) I d9dt § 4 w9 A

(4) fafaree sferi # R 2
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In adolescence behaviour and attitude
are affected mostly by

(1) Teacher

(2) Parents

(3) Peer Groups

(4) Films

Moral values can be effectively
inculcated among the students when
teacher

(1) Frequently talks about values.

(2) Himself practices them.

(3) Tells stories of good persons.

(4) Talks of Gods and Goddesses.

Critical thinking helps a person in
developing abilities and skills for

(1) providing concrete experiences.
(2) proper interpretation, analysis,
evaluation and inference.

(3) creating and constructing
something.

(4) thinking about ways of reacting.

Best method of dealing with adolescent
by parents and teachers is
(1) Autocratic (2) Permissive

(3) Democratic (4) Restrictive

Which of the following is not a
characteristic of social development in
adolescence ? '

(1) Active member of their peer

group

(2) Being an - attraction towards
opposite sex

(3) High decrease in friendly
relationship

(4) Extension of special interests
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1) g& 9 |
(2) TfEt & fae foew @

(3) TE g () g 4
(4) TR TFET FH G

‘Fad o A& qiE (CCE) &
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(1) 33 a6 B ThAMRT B GAH
FHTAT|

(2) T & ol Tl F g T |

(3) Fa B & S Pl BT HC |

(4) Fa9 BT | AUH F oAb B |

frefofgg & @ #9-d oo aaE
Pl faRwar (Fraan) 787§ ?

(1) fereman

(2) WiferEar

(3) fagrsan
(4) T

e ufewe & art @
(1) 99% & =Fe’ § e amr 9fac |

(2) T @t Rreor ot & oftads
(3) UEFAE] H YR |

(4) wrggEE] B O B
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10.

11.

12.

13'

14.

A

An adolescent uses her/his left hand
for performing act like taking food or
writing, this is developed due to

(1) Inherited behaviour

(2) Developmental behaviour

(3) Wrong behaviour

(4) All options are right

Discalculia is a problem related to the

problem of

(1) Speaking accurately

(2) Writing
 mistakes

without  committing
(3) Listening message properly
(4) Doing mathematical calculations

Continuous and  Comprehensive

Evaluation (CCE) aims to evaluate

(1) The reasoning of child only.

(2) All aspects of development of
child.

(3) The knowledge of child only.

(4) The understanding of child only.

Which of the following is not a trait
(ability) of a creative child ?

(1) Elaboration
(2) Originality
(3) Accuracy
(4) Novelty

Learning outcomes means

(1) Change in the behaviour of the
student.

(2) Change in teaching method of the
teacher.

(3) Recognization of the
matter.

subject-

(4) Completion of content.

P.T.O.
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(1) ITh Qrgarelt 1 afehe & =Ry |

(2) SUFHT Ghaur M Al IUee HE
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(3) 32 Fefega (qae) #¢ 30 =
(4) AfFTRE aTfad Fe =@few |

et & ®1y, BNy &y & Ui
et & @y a1 Fxa 99y w®r SR
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(1) STeaAIes IYFTH

(2) YSIdi=E I

(8) wufed SarM

(4) et U

AR qEE HEEQE g @
frefes aeet 2

(1) 9% S HEaTES fawmg §

(2) 9F & TS fGmrg J
(3) 9% & AANF [AHg §
(4) % F Aicghs AE §

Level-3/168

(6)

15.

16.

17.

18.

Differentiation of emotions takes
place at the time of

(1) Birth of child
(2) During infancy
(3) During the period of adolescence

(4) During adulthood

Which of the following provision is

not suitable to meet individual

differences among learners ?
(1) Their abilities should be assessed.

(2) Adequate facilities and material
should be provided.

(3) Labelling them.
(4) Making Individualisation necessary.

Working with adolescents,

particularly maladjusted one, which is
not appropriate ?

(1) Critical approach
(2) Democratic approach
(3) Collective approach
(4) Ideal approach

Heredity plays most important role in
the

(1)

Emotional development of the
child

(2) Social development of the child
(3)

)

Physical development of the child

Cultural development of the child
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(1) F6d SAET I T K FErE
forereht % |

(2) TETERg B U=k I A werd
forerelt ® 1

(3) TEFaR] B WA alw d qEEe
gergan ferdt 21

(4) IHY T9T F F=C e & |

T yER & qheen @ e |
¥ F-d e 7878 ?

(1) FBvaedaa  (2) Fged
(3) el (4) RIS

MiifEE Farey @ Frefofeag § |
H-g1 e ¥ ?

(1) BEI & @R # g S
Frepd frarerr ol omge fremat @

e A |
@) s TEjFS, g ) T 2

(3) FEE oNf¥FERE FH BE W
WFAFART H 2|

(4) BF ‘GE' I H TAIS 2|

frfafag & & @9-@ ofrm & &
gqHEEs R SR e @ Wi
g & 7

(1) @ #
(2) F9E & |
(3) ST H F1aw
(4) Aegh & frm
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19.

2'00

21.

22.

A

The
learning is must for a good teacher,

knowledge of principles of

because

(1) It helps in maintaining discipline.

(2) It helps to make content
interesting.
(3) It helps to understand the content

by simple methods.

It saves time.

(4)

Which of the following characteristic is
not correct about objective type testing ?

(1) Reliability (2) Objectivity
(3) Validity (4) Subjectivity

Which of the
characteristics of

the
constructivist

following is

classroom ?

(1) Students
draws conclusions and compare
their findings.

design experiments,

(2

Knowledge is objective, universal
and complete.

Teacher transmits authoritative
knowledge to students.

Students look for the
answer.

®3)

(4) 'right’

Which of the following is the primary
law of learning propounded by
Thorndike ?

(1) Law of analogy
(2) Law of exercise
(3) Law of assimilation

(4) Law of disposition

P.T. O.
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(4) fea i srafy
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(1) =R Fafdd 3w
(2) oI PfFTH ST
3) Yl =R

(4) A9 AT JgfES T

T8 AP AWES 9 S RFdl FaerR

CF A FA, FERE #w g s

@ F 439 FCl 8, Fearl 2

(1) ey (2) AR

(3) ifgfy (4) SAPEREm

HG AT AU AN F erEE ¥ wHE
B §Id § e I I=

(1) gf& afr 1.Q.) &t )

2) M 7Ry (A.Q.) Bt B

(3) WAl @fer (E.Q.) &t &1

(4) ameATione Wy (S.Q.) B B

faerq g T @ 99 @ % ST
B &, R @ g8 Rrera Feanr @

(1) faured q wwmedly

(2) AR (=T & aY A 9R)
(3) 9 ¥ fafdree

(4) R
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According to Piaget the child is able to
apply logical thoughts to all classes of
problems, this development occurs in
which of the following periods ?

(1) The formal operational period

(2) The concrete operational period
(3) The pre-operational period

(4) The sensory motor period

A child is average on creativity, high
in academic achievement, poor in
social development. This is an
example of

(1) Inter individual differences

(2) Intra individual differences

(8) Individual differences

(4) Measurable individual differences

That internal state of mind that
arouses, directs
behaviour is called as

(1) Interest (2) Opinion
(3) Attitude (4) Motivation

and maintains

Some people adjust easily with new
people because they have high

(1) Intelligence Quotient (1.Q.).

(2) Academic Quotient (A.Q.).

(3) Emotional Quotient (E.Q.).

(4) Spiritual Quotient (S.Q.).
Development generally proceeds from

head to foot, this principle of
development is called

(1) Bilateral to unilateral
(2) Proximodistal

(3) General to specific

(4) Cephalo Caudal
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(1) ST SRem

(2) @ IO

(3) TR IO

(4) ST qEr @ SO

ftrEal ded SUTH & W H
Prfofad & @ of 99 TS q@ B

(1) g el @t draanell, st
Ax aftrm At F1 &= @ B

(2) & AW, IEEE X W9 B
et I g ol 2|

(3) T& HATH ZW ARFTHEA B FH
TR 9T 9 ol & |

(4) F& FIHITY-SAFH, THE-HAEH,
OIS gemi-aE
S it @1 s e B
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FEfl o s==8i & JIER W
Fed B 7

(1) STERHH

(2) G

(3) ITEIEHTT

(4) 9T

(9)

28.

29.

30.

A

A student is working hard for Board
Examination, his father has promised
to give him a motor cycle if he gets
good marks. This is

(1) Intrinsic motivation
(2) Extrinsic motivation
(3) Mathematical motivation

(4) Intrinsic and extrinsic motivation

Which of the following statements is not
correct about learner centred approach ?

(1) It takes into account learner's

capabilities, capacities and

learning styles.
(2) It stresses the importance of
enquiry, and

investigation.
(3) It emphasises transmitting

knowledge to the learner by the
teacher.

observation

C))

It uses methods like experiential
learning, problem solving, concept
mapping and creative writing.

A child's attitude 'l do not care' is a
type of behaviour which can be
called

(1) Aggression
(2) Defence
(3) Denial

(4) Retrogression

Level-3/168
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Y& [FT F g
(1) gt = fagg + B

(2) TN = T + H
B) 9 = a9 + &
(4) T = & + Ty

‘qoRy’ e § A gwg Y
1) 3 2

3) = (4) 317

‘as R 9 Bwa fpar @ A - @ fa
TF q g

(1) A

(2) SmEr

(3) IR

(4) aTTRiaT

S Al o I Y few = e -
% fq o o=z ¥

(1) gfear
(2) A

(3) SifdcferT

(4) @I

Fr o=f 7 @ B9-a1 9= ‘@@’ ?
(1) ™

(2) feEma

(3) T

(4) 9HT
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(1) STE=T b
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(3) WY el
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(1) HAgT

(2) &I

(3) @Y g
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(1) &E

(2) FHaet
(3) Ty
(4) @R

e o= § 4 goE O 9w &9
q 7ETgMeE ?

(1) Feredt

(2) @

(3) auwE

(4) wrEE
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feetyor | wrard ®
(1) 3EE
@) far

(3) @

(4) wiEHr {34

=AY 9N 7 Aifed e §
(1) sy

(2) TUT F FEMEA

(3) a?ﬁaﬁm%ﬁwm
(4) T AR Frgw
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HIT - 111/ PART - III
AT - 11 (S{Tf)/LANGUAGE - II (ENGLISH)

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

Choose the correct passive form of
the verb in bracket in the given

sentence :

I suddenly realized I (watch).
(1) am being watched

(2) have been watched

(3) am watched

(4) was being watched

I must finish this.

The underlined word in the above

sentence indicates
(1) Necessity

(2) Determination
(3) Wish

(4) Habit

Choose the correct suffix to form the
word. The meaning of the word is

given :

(1) ous
(2) some
(3) ose .,
(4) ful

Level-3/168

64,

65.

66.

‘I don't enjoy going to the dentist.
The the

sentence is a/an

word 'going' in above

(1) Present participle
(2) Infinitive
(3) Perfect participle

(4) Gerund

Choose the correct indirect speech of

the given sentence :
Mother said, "Don't go to the park."

(1) Mother asked us not to go to the

park.
(2) Mother told us not to go to the
park. |
(3) Mother said us not to go to the
park.
(4) Mother said to us to not to go to

the park.

Which of the following expression

means 'extremely happy' ?
(1) be a basket case

(2) fall off your perch

(3) be off your trolley

(4) on cloud nine



67.

68.

69.
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Choose

construction of the sentence :

the correct passive

Auctioneers will sell the painting at

auction.

(1) The painting would be sold at

auction.

(2) The painting will be sold by the

auctioneers at auction.

(3) The painting will be sold at

auction.

(4) The painting will be selling at

auction.

Identify the figure of speech in the

following sentence :

I must be cruel, only to be kind.
(1) Epigram

(2) Paradox

(3) Analogy

(4) Metaphor

Which of the following words is mis-
spelt?

(1) incongruous
(2) chronological
(3) synchronus

(4) sympathetic

Level-3/168

(15)

70. (1)
(2

3

(4)

71. (1)

(2)

3)
)
72. (1)
@)
@)

(4)

A

Direction : (Q. Nos. 70 to 74) : Select the

sentence that is grammatically correct :

My brother is the student in
Mayo College.

My brother is student of Mayo
College.

My brother is a student in the
Mayo College.

My brother is a student in Mayo
College.
Neither of them were present

there.

Neither of them was present

there.

Neither of them present there.
Neither of them are present
there.

The roses smell sweet.

The roses smell sweetly.

The roses are smelling sweetly.

The roses are sweétly smelling.

Pl T‘ O‘
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74.

75.
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(1) You certainly did not ought to do
it.

(2) You certainly ought not to have

done it.

(3) You certainly did not ought to

have done it.

(4) You certainly ought not to have

been done it.

(1) Who was the book given to ?

(2) Who the book was given to ?

(3) The book was given to who ?

(4) Whom was the book given to ?

Choose

transcription of the word 'Locate’

the  correct phonetic

(1) Nuket/

(2) Nokeit/

(3) /Nou'keit/

(4) /Nouket/

Level-3/168
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76. Choose the correct direct speech of

717.

78.

the given reported speech :
He said I'd better go because it was late.

(1) He said, "You'd better go because

it's late."

(2) He said, "I'd better go because it

was late."

(3) He said, "You'd better be gone

because it was late."

(4) He said, "You'd better go because

it was late."

Which

correctly ?

of the following is spelt

(1) Pediatrician
(2) Padritician
(3) Pedaitrician

(4) Pidiatrician

In which of the following sentences do
we need to insert the definite article
‘the’ ?

(1) They are all busy growing things.

(2) We do not generally speak of

farmers 'growing animals'.
(3) Why do people work ?

(4) They are different from rest.
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79. Which of the following sentences is

correct ?

(1) My father's foot was put down
when I said I wanted a car for my
seventeenth birthday. He said I
was too young.

(2) My father down put the foot when

I said I wanted a car for my

seventeenth birthday. He said I

am too young.

(3) My father put his foot down when

I said I wanted a car for my

seventeenth birthday. He said I

was too young.

(4) All options are wrong

80. Since you were not there, I left a

message with your sister.

The underlined group of words in the

above sentence is a/an

(1) Noun Clause

(2) Adverb Clause of place
(3) Adverb Clause of time
(4) Adverb Clause of reason

Direction : (Q. Nos. 81 to 85) : Read the
following passage and answer the questions
by choosing most appropriate option :

Common sense is a rare and enviable
quality. It may be truly said that ‘its price is
above rubies’. How many learned men, how

many wits, how many geniuses, how many

Level-3/168
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.unbiased freedom

A

dull and ignorant people, how many cunning
knaves, how many well-meaning fools are
without it ! How few have it, how little do
they or others know of it, except from the
infalliable results — for one of its first
requisites is the utter absence of all

pretension.

The vulgar laugh at the pedant and
enthusiast for the want of it, while they
themselves mistake bigotry and narrow
minded notions for it. It is not one of the
sciences, but has been well pronounced to be
'fairly worth the seven'. It is a kind of
mental instinct, that feels the air of truth
and propriety as the fingers feel objects of
touch. It does not consist with ignorance for
we cannot pronounce on what we do not
know; and on the other hand, the laying in
of a stock of knowledge, or mastering any
art or science seems to destroy that native
simplicity and to warp and trammel the
of mind which

necessary to its receiving and giving their

is

due weight to ordinary and casual
impressions.
81. Common sense is a rare and enviable

quality because

(1) Its price is above rubies
(2) All learned men have it
(3) All men are without it

(4) Very few have it

P T. 0



82.

83.

84,

85.
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What is not a requisite of common

sense ?

(1) the utter absence of all
pretension

(2) bigotry and narrow minded
notions

(3) truth and propriety

an unbiased freedom of mind

4

Which of the following is not stated
by the writer in the passage ?

(1) Affectation destroys common
sense.
(2) Common sense requires the

utmost simplicity and sincerity.
Common sense feels the air of
truth and propriety as the fingers
feel objects of touch.

®3)

destroys the
native simplicity and warps and
trammels the freedom of mind.

(4) Common

sense

Fill in the blank with the most
appropriate word :

been well
pronounced to be ‘fairly worth the

Common sense has

seven’ ...
(1) Notions
(3) Talents

(2) Sciences
(4) Wits

Which is not a synonym of the word
'pedant' ?

(1) dogmatist

(2) formalist

(3) perfectionist

(4) down-to-earth

(18)

Direction : (Q. Nos. 86 to 90) : Fill in the
blanks with the most suitable option :

87.

88.

89.

90.

child should learn to read and

write
(1) Al (2) Every
(3) Whole (4) Both

........... , do you think
TV violence is harmful ?

Can I ask your

(1) opinion (2) favour

(3) question (4) advice

Where is my wallet ? I left it
the kitchen table.

(1) at (2) in

(3) on (4) by

Take some medicine and the pain will

8O wevrerens
(1) back (2) off

(3) out (4) away

The walkers finally arrived at their
destination. They ............. all day, and
they certainly needed a rest. They ......
thirty miles.

(1) had been walking; had walked
(2) had walked; had been walking
(3) walked; walked

(4) have been walking; had walked

Level-3/168
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R - IV/PART - IV

a1 9T / ECONOMICS
Ao « Rt geit @ owr 83 @ [ @a8 afm e gri

Direction : Answer the following questions by selecting the most appropri

ate option.

91. IR UF o T I & & T
IRA F W B,
(1) HYER H a1 TG

2) @M 9 T |

(3) A P X LA ©
(4) TEOTEE AU &
fay 999 & UK & T8

(1) 3 fEE §

(2) FATHH FEREN &

(3)113@3%%91%&?@?%%61%
S=0

(4) R GUEK T A

92.

93.

wF afhus % # A S &
Fo 1,00,000 ¥ 3T Bo 20,000 & FT
FEEE 10 sfaed @,

94.

(1) $o 25,000 (2) %o 1,00,000
(3) o 1,20,000 (4) T 4,00,000
ReT 3 et @ gEEa @ fRd R
2 freffta &t & ? '

1y fafa sbied e gaT whif
(2) o7e HreT ST AR °rel
(3) AR =TeT ST Ja Tt
(4) &9 T wE @ X

95.
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91.

92.

93.

94.

95.

If the economy is producing at the

full employment level of output, then
(1) The government's budget 1is
balanced

The balance of trade 18
equilibrium

The unemployment rate is zero
There is frictional unemployment

(2) in
(3)
(4)
Investment are equal to savings
(I=S)isa

(1) Keynesian concept
(2) Classical concept
(3) Same as saving
investment

Not always equal

is equal to

(4)

John Maynard Keynes

(1) was an American economist

(2) did not believe that "Supply
creates its own demand"

(3) was the father of microeconomics

(4) did not believe that changes in

private investment were an

important source of economic

instability

A commercial bank holds Rs.1,00,000

in demand deposit liabilities and

Rs. 20,000 in reserves. If the required

reserve ratio is 10 percent, what is

the maximum amount by which the

banking system can increase loans ?

(1) Rs. 25,000 (2) Rs.1,00,000

(3) Rs. 1,20,000 (4) Rs. 4,00,000

Foreign exchange rates are

determined by parity of which two

factors ?

(1) Export prices and inflation

(2) Budget deficit and trade deficit

(8) Trade deficit and inflation

(4) Purchasing power and interest
rates

P.T.O.
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96. ?ﬁmﬁﬁwmﬁww?ﬁﬁw

97.

98.

&
ey

Eag

—_
B2
S

g

RE Do) B S ) T
%o 30,000 B A AN waEd
o 25,000 ¥ S HAT SwA mafy
0.5 8, @ wF g ot § fpg
ST a7 B 7

(1) T =29 Fo 2,500 F qam
(2) §&F{ =7 Fo 10,000 F FaT
(3) W & Fo 5,000 F qaIT
(4) & #} To 2,500 F Ty

T T e gewE ¥ ek

Level-3/168

96. The law of diminishing marginal

97.

98.

returns indicates that

(1) Beyond some point the extra
utility derived from additional
units of a product will yield the
consumer larger and larger
additional amounts of
satisfaction

(2) The demand curve for goods
produced by competitive
industries is downward sloping

(3) A firm's long run average cost
curve is U shaped

(4) A firm's marginal costs will
eventually increase as the firm
expands output in the short run

The economy's potential output

equals Rs. 30,000. If current output

equals Rs. 25,000 and the marginal

propensity to consume equals 0.5,

what would a Keynesian economist

be expected to recommend ?

(1) Increase government spending by
Rs. 2,500

(2) Increase government spending by
Rs. 10,000

(3) Increase government spending by
Rs. 5,000

(4) Decrease taxes by Rs. 2,500

When economies of scale are

important and, therefore, when an

industry tends toward natural

monopoly, breaking the industries

into several firms of small size would

(1) Lead to lower short-run prices

(2) Lead to higher prices or to a
higher per unit cost for the
smaller firms

(3) Cause prices to rise if demand is
inelastic, but fall if it is elastic

(4) Cause prices to fall because of
the decline in producer profits
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99. ‘AR ¥ affos g Ya1 e £ A g3
Sl gar ot BN | g i i s
FH FA IART goal 2 a g 9aT
acl @ Mg g% U 98 Y W
JEATETT
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(2) SeEET # 9 @ e @

7]

(3) GUNH E@Hg H

(4) Frofaaiet & e ager &

100. A WiC SRER FroeE 10 gfyed @
IR T I (PEe s efifE
FY TE &) H Fo 1,000 FH G BT
| ¥% & onfomm I B g @ R ?

(1) To 100 (2) o 900
(3) o 10,000 (4) o 9,000
101, 9T i ST F9 far o g @
(1) AR AFHT TITHT
(2) T@H FT TOEHT
(3) dH F fU BN # syaEEa
PLCTY
(4) ¥F =W e

102. X =6 & YR HE F T IE
QIR o/ B 7

(1) S |

(2) FHY 91 # gftgaH

«(3) o <if # st aReds
(4) &1 % afrr § giads

103. % sdqrEl # gE FHT B E e
LI T oW F @ B, T6HE ad
&

(1) %4 =9ard § 9T TH arl 2
(2) B4 IO R WX g am

(3) WM U ofEl W M @
1 @ ®
(4) ® # qEET T g B
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99.

100.

101.

102.

103.

A

"If I grow more oranges, I will make
more money. Similarly if the total
output of oranges increases, the
earnings of orange growers will
expand." This statement is a clear
example of
(1) A normative viewpoint
(2) The role of incentives
economic way of thinking
(3) The fallacy of composition
(4) Economising behaviour
decision makers

and

by

Assume that required reserve ratio is
10 percent and a single bank (with no
excess reserves) receives deposit of
Rs. 1,000. What is the value of bank's

excess reserves 7
(1) Rs. 100 (2) Rs. 900
(3) Rs. 10,000 (4) Rs. 9,000

An inflationary gap can be reduced by

(1) Increasing personal income taxes

(2) Increasing government expendi-
tures

(3) Decreasing reserve requirements
for banks

(4) Decreasing Bank rate

What is the key impulse in the

monetarist model of the business cycle ?

(1) Innovation

(2) Changes in aggregate demand

(3) Unanticipated changes
economic policy

(4) Changes in the quantity of money

n

When an economist states that a firm

is making zero economic profit, he

means that '

(1) The firm is about to go out of
business

(2) The firm is earning a zero rate of
return on its assets

(3) The firm is earning normal rate

of return on its assets

(4) The accounting profit of the firm

are zero

P.T.O.
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104.

105.

106.

107.

108.

An inferior good is distinguished by

(1) A negative price elasticity of
demand

(2) A positive price
demand

(3) A positive income elasticity of
demand

(4) A negative income elasticity of
demand

elasticity of

Rational Expectation Revolution is
advanced by

(1) Robert E. Lucas

(2) Frederic S. Mishkin

(3) Franco Modigliani

(4) Lawrence R. Klien

The demand curve for the

monopolistically competitive seller

will tend to become more inelastic

(1) As the number of substitute
products on the market increases
As the number of competitors
increases

As the barriers to entry into
industry decline

As the firm is able to differentiate
its product more effectively from
those offered by rival firms

(2)
3)
(4)

National Income is measured as

(1) NNP - Direct Taxes — Subsidies
(2) GNP - Indirect Taxes + Subsidies
(3) NNP - Indirect Taxes + Subsidies
(4) NNP - Subsidies + Direct Taxes

GDP rose for four quarters in a row
and subsequently declined in the next
three quarters. How would you
describe this situation in terms of the
business cycle ?

(1) Expansion, peak, recession

(2) Trough, expansion, peak

(3) Expansion, recession, peak

(4) Peak, expansion, trough '
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114,
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109.

110.

111.

112.

113.

114,

A

The change in capital stock is equal to
(1) Gross investment

(2) Depreciation

(3) Net investment

(4) Net investment — depreciation

A mathematical technique frequently

not used in microeconomics is
(1) Optimum

(2) Function notation

(8) Accounting

(4) Graphing

Frictional unemployment

(1) Would decrease if unemployment
compensation payments rise

(2) Would increase if improved

methods of disseminating job

information among unemployed

workers are available

Would  decrease if every

individual in the economy has

perfect information

Is caused primarily by improper

management of the money supply

3)

4

Which of the following factors does

not shift the money demand curve ?
(1) Real GDP

(2) Monetary GDP

(3) Rate of interest

(4) Price level

When a price index increases from

125 to 150, the value of money
(1) Increases 25 percent
(2) Decreases 25 percent
(3) Increases 20 percent
(4) Decreases 17 percent

The equilibrium price does not go up

when a negatively sloped demand

curve shifts to the right if

(1) The supply curve is vertical

(2) Quantity supplied goes up as
price goes up

(3) The supply curve is horizontal

(4) The price of substitutes goes

down

P.T. O.
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115.

116.

137,

118.

119.

The Firm's average total costs will be a

minimum at the output level where
(1) The firm just begins to confront

diminishing returns to the
variable factors

(2) The marginal costs are a
minimum

3)
(4)

The firm's profits would always
be a maximum

The marginal cost curve crosses
the firm's average total cost
curve

A long run constant level of output at
full employment leads to what kind of
Phillips curve ?

(1) Concave to the origin

(2) Convex to the origin

(3) Vertical

(4) Horizontal

If the money income of consumers
decreased and, as a result, the
demand for product A increased, it

could be concluded that product A is
(1) An inferior good

(2) A substitute good

(3) A complementary good

(4) A normal good

In a competitive industry, the
additional revenue derived from the
employment of an additional unit of a
resource is referred to as the
resource's

(1) Marginal cost

(2) Value marginal product

(3) Marginal physical product

(4) Marginal productivity

Output gap is given by

(1) Difference between demand and
supply

Difference between wants and
means

Difference  between potential
production and actual production

Increase in inflation

(2)
3
“4)
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120.

121.

122.

123.

124,

A

The difference between the short run

and long run supply curves for a

product is that the short run supply

curve is usually . '

(1) Horizontal

(2) More inelastic than the long run
curve

(3) More elastic than the long run

(4)

curve
Of unitary elasticity

Suppose the extra Rs. 10,000 value of

a plants' output causes waste nearby

river at a loss value of Rs.3,000. What

is the additional value to GDP ?

(1) A decrease of Rs. 3,000

(2) An increase of Rs. 10,000

(3) An increase of Rs. 7,000

(4) A decrease of Rs. 7,000

Assume that between 2000 and 2010

money GNP increased from Rs. 1000

billion to Rs. 1500 billion, and the

index of prices increased from 100 to

200. Which of the following expresses

GNP for 2010 in terms of 2000 prices ?

(1) Rs. 1000 billion

(2) Rs. 750 billion

(3) Rs. 1500 billion

(4) Rs. 500 billion

All points on an indifference curve
represent the combinations of goods
that are

(1) Equally preferred by a consumer
(2) Of equal cost to a consumer

(3) Available to consumers

(4) Equally preferred by society

A policy that uniquely responds to
economic events is

(1) Contractionary ﬁolicy

(2) Fixed rule policy

(3) Discretionary policy

(4) Expansionary policy

2T O
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In the following, which ones are real
variables ?

I - Price level

II - Rate of inflation

III- Employment

(1) Tonly (2) II only

(3) III only (4) Iand II only
The short run is a time period of
insufficient length for the firm to
change its

(1) Output

(2) Amount of labour utilised

(3) Plant size and heavy equipment
(4) Price

Transaction demand for
increases when

(1) GDP goes down

(2) GDP goes up

(3) Interest rates fall

(4)

money

Unanticipated payments
expected to increase

are

The difference between extensive and
intensive economic growth is about
the same as the difference between
the growth rate of

(1) Total GNP and per capita GNP

(2) Total GNP and total
economic welfare’

net
(3) Per capita GNP and per capita
net economic welfare

Real per capita GNP and per
capita net economic welfare

4)

According to the'theory of rational
expectations, government’s anticipated
policy will

(1) Fool some of the people all of the

time
Fool all of the people some of the
time

(2)

Fool some of the people some of
the time

(4) Never fool anybody
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The aggregate supply curve (AS)

shifts rightward if

(1) The opportunity for education
decreases

(2) Company taxes go up

(3) Investment in  plant

(4)

equipment increases
Labour supply goes down

A necessary condition for a mixed

economy is that there are

and

(1) Private and Public sectors

(2) Primary, secondary and tertiary
sectors -

(3) Capital and consumer goods
sectors

(4) Heavy industries and light
industries

Which of the following creates the

trade off described by Phillips curve ?
(1) The AS curve moves to the right
(2) Input costs go up, together with
increased unemployment

(3) The AD curve moves to the right
(4) GDP increases, while price levels
go up

Compared to expansionary monetary

. policy to resolve a recession the

immediate impact of expansionary
fiscal policy is likely to be

(1) Lower inflation

(2) Less public spending

(3) Higher interest rates

(4) A lower GDP growth rate

When an economist says that the

demand for a product has increased,

he means that

(1) The demand curve has shifted to
the left

(2) Product price has fallen and, as a
result consumers are buying
more of the product

(83) The product has  become
particularly scarce for some
reason

(4) Consumers are now willing to

purchase more of this product at
any given price

B 10,
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Hysterisis refers to a condition where
history of a variable

(1) Affects its present behaviour

(2) Does not affect its behaviour

(3) Is not significant

(4) Is not required for prediction

A 6 percent growth rate in GNP will

bring about a doubling of GNP in about

(1) 3 years (2) 12 years

(3) 24 years (4) 16 years

If a monopolistically competitive firm

produces at an output level where

marginal cost is Rs. 10 and the

marginal revenue is Rs. 22, the firm

should

(1) Reduce output in order to lower
costs

(2) Increase product price in order to

improve the firm’s per unit profit

(3) Reduce price so that sales can be
increased

(4) Leave output and price
unchanged

Which of the following is true, if the
production p0381b111ty curve is
concave to the origin ?

(1) Marginal costs are decreasing

(2) Opportunity costs are increasing

(3) Resources are perfectly
substitutable

(4) There are increasing returns to
scale

Disinflation is

(1) A reduced rate of inflation

(2) Deflation

(3) Negative inflation

(4) A zero rate of inflation

A decrease in the demand for a

product will cause

(1) The price of resources to decrease
and therefore output to increase

(2) Output to decrease, and demand

for resources used to produce the

product to decrease also

Output to decrease, but the

demand for resources to remain

constant

Output to decrease and resource

prices to fall if, and only if, their

supply is elastic

(3)
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A

If A =383, AB = 35, N = 1500 and B
is 360, find the value of af

(1) 360 (2) 1140

(4) 792

Money is neutral when

(1) Increases in interest rates are
matched by increases in bond
prices

Increases in money supply leave
real output unaffected

Increases in interest rates are
matched by decreases in bond
prices

Decreases in money supply cause
short term interest rates to go up

2
3)

4

Shortages mean

(1) Demand exceeds supply

(2) Wants are more in comparison to
means

(3) Supply of goods

(4)

producers
Supply exceeds demand
Suppose taxes decrease by Rs. 50
billion. If the marginal propensity to
consume is 0.8, the value of output
increases by
(1) Rs. 40 billion
(2) Rs. 50 billion
(3) Rs. 160 billion
(4) Rs. 200 billion
Which of the following best describes
the supply policy of a monopolist ?
The monopolist will expand supply
until
(1) Total revenues equal total cost
(2) Per unit profit is at a maximum
(3) Average total cost is at a minimum
(4) Marginal costs equals marginal
revenues

by a few

Okun's Law shows the relationship
between

(1) Unemployment and growth

(2) Employment and growth

(3) Tax rate and tax revenue

(4) Inflation and Unemployment

B0
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Under first degree price
discrimination
(1) No consumer Surplus is left with

the consumers

Goods are sold in bundles at
different prices

Markets are divided on the basis
of elasticity

Monopolist charges competitive
price from consumers

Potential GNP

(1) Is Less actual GNP is a measure
of the production lost due to a
business slowdown

Is always less than actual GNP
except during recessions

Is a measure of the minimum
that economy could be
reasonably expected to continue
producing at any time

Is 95 to 96 per cent of actual GNP
during periods of full employment
Out the odd

(1) Bank Rate

(2) Cash Reserve Ratio

(8) Statutory Liquidity Ratio

(4) Call money rate

Which of the following would be most
likely to lead to a reduction in the
price of a competitively produced
product X ?

(1) An increase in the price of Y, a
substitute

A decrease in the price of Z, a
complementary product

(8) A decrease in the price of K, a
factor of production that is
utilised to produce X

No effect would be on any other
product

(2)
(3

4)

)

3)

an

(4)

()

(4)
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Answers to questions in answer sheet are to be given
by darkening complete circle using Black/Blue ball point
pen as shown below :

o e O ®

The answer will be treated wrong, if it is marked, as
given below :

@ ® © &

If you fill more than one circle it will be treated as a
wrong answer.

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Blue/Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed to
be changed.

The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test
Booklet will not be provided.

The candidates will write the correct Number as given in
the Test Booklet/ Answer Sheet in the Attendance Sheet.

Candidates are not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall/room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her seat.

The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet twice.
Cases where a candidate has not signed the Attendance
Sheet second time will be deemed not to have handed
over the Answer Sheet and dealt with as an unfair means
case. Female candidates have to affix right hand thumb
impression whereas male candidates hiave to affix left hand
thumb impression on the OMR answer sheet at the place
specified which should be properly inked i.e. they should not be
either over inked or dried in nature.

Use of Electronic/Manual Calculator is prohibited.

The candidates are governed by Guidelines/Procedure
given in the Information bulletin, all Rules and
Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be
dealt with as per Rules and Regulations of the Board.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, the candidate must hand over
the Answer Sheet to the Invigilator in the Room/Hall.
The candidates are allowed to take away this Test
Booklet with them.
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